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Question Number : 1 Question Id : 40503611156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dimensional formula for thermal

conductivity is (here K denotes the

temperature) :
Options :

40503640521, MLT °K

I 3 —1
40503640522, MLT 2K

g 3
40503640523, MLT °K

"}

40503640524, MLT 2K

Question Number : 1 Question Id : 40503611156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegeduniag

AT STeTshal  ferd fafa 99 (dimensional
formula) g (9= T K 9199 =90 2)




Options :
] 2
40503640521, MLT °K

4 3 1
40503640522, MLT K

/ 3
40503640523. MLI™*K

40503640524, MLT 72K~ 2

Question Number : 2 Question Id : 40503611157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A Tennis ball is released from a height h

and after [ reelj.r faHj_ng on a wooden floor

. y h
it rebounds and reaches hmght 5 The

velocity versus height of the ball during its
motion may be represented graphically
by :
(graph are drawn schematically and on
not to scale)
Options :
3

tihf .

A h(»)

" h
¥

40503640525.
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Question Number : 2 Question Id : 40503611157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U f7H e h 39S 9 BE Sl € A e
h

2

] 9 UF TFel & FY W TFHAH T8

ST A% Tl € | SHF Tod i & SHE g
% 3 SR S 3 v w e A @ P
T I T s €

(TTF HHATHF &)

.
gcollegedumag
India’s largest Student Review Platform

~



Options :
v a
Llah )2

— > h(v)

40503640525.

40503640526. /

(LR N

40503640527.

40503640528.
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Starting from the origin at time t=0, with

initial velocity 3; ms . a particle moves

in the xX—y plane with a constant

acceleration of (1[}}' [ -Lﬂmr;_z. Al ime
\ A

t, its coordinates are (20 m, g m). The

values of t and I, are, resp ectively :
Options :
40503640529, 2sand 24 m

40503640530, 4 sand 52 m

40503640531, = Sand 18 m

40503640532, ° Sand 2> m

Question Number : 3 Question Id : 40503611158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T =0 A %la H YRieyF a9 jjr ms_l

q = [mf | J_ﬂnm‘z F 9 T T
s

TF F x—y THAA W HA W8 THIt W

T2 95 (20 m, yy m) W& | FHH9: 9T t 3R
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Options :

40503640529, = S 24 m

40503640530, 45 FL52m

ESﬁTle

40503640531.

40503640532, 55 2B m

Question Number : 4 Question Id : 40503611159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Blocks of masses m, 2m, 4m and 8m are
arranged in a line on a frictionless floor.
Another block of mass m, moving with
speed v along the same line (see figure)
collides with mass m in perfectly inelastic
manner. All the subsequent collisions are
also perfectly inelastic. By the time the last
block of mass 8m starts moving the total
energy loss is p% of the original energy.
Value of ‘p’ is close to:

F F F
.-'j_x}_r Fhr i rri I,-'r’f
'y i ", ' rry
i i Ll i Fara

m m 2m 4m sm

Options :
40503640533, 37
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40503640534, /7

40503640535, 87

40503640536, >3

Question Number : 4 Question Id : 40503611159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oA m, 2m, 4m -ﬁ?ﬂmﬁ?ﬂaﬁ?ﬁﬂﬁﬂl
T wY W U i W@ g E | FeEE
IllﬂWWEﬁ‘?ETW tﬂﬂﬁﬁﬁﬁﬁﬁf{
m FEEHA % T2 H YUd: ST 29 Hidl
& (fod 39 700 =18 21 At et 2ot ot
UiE: AGER F | TH TFR I 7% 8m ZHH
1 T2 I € FA1 E 79 9% JA Foll Hl
p % St i afl 21 1 S B | ‘p’ 1 e
A€ :

— 7

T 5
rr/ !/ ot /
P ) ' A

! iy Fairar i iy LA

m m 2m dm Bm

Options :
40503640533, 37

40503640534, /7

40503640535, 87
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40503640536, >3

Question Number : 5 Question Id : 40503611160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On the x-axis and at a distance x from the

origin, the gravitational field due to a mass

Ax
distributionis givenby ————— in the
i Fa -
x-direction. The magnitude of

gravitational potential on the x-axis at a
distance x, taking its value to be zero at
infinity, is :

Options :

A
a a2 3/
(x~ +a )=
40503640537. '
A
., N 1/
(x~ +a” )"~
40503640538. :
P
40503640539, (X7 +a%)

R 2 o AL
40503640540, ‘MxX~ +a%)?
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

x-38 T AR Yeatag ¥ x T W U faaka
TEHT H IeUE B Gl NEEE &
. Ax " ;

————— xfem A T rTg WA fag

L Hays
Y x T W IEEE fa9d 1 97Am (59 a ==
T I HEET) B

Options :

A
.. ¥ 3/
(x +a )=
40503640537 |
A
3 » 1/
(x~ +a~ )~
40503640538, '
R
40503640539, X~ 1a%)

i/
aE]-'E

i 8
40503640540, (X7

Question Number : 6 Question Id : 40503611161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A air bubble of radius 1 cm in water has
an upward acceleration 9.8 cm s 2, The
density of water is 1 gm cm 3 and water
offers negligible drag force on the bubble.
The mass of the bubble is
(=980 cm/s?).

Options :

40503640541, 122 8M

40503640542, 12 8M

40503640543, =10 &m

40503640544, 21 8M

Question Number : 6 Question Id : 40503611161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

541 1 cm %1 & a1 1 Gordgell I § S0
F1 SR 9.8 cm s~ 20 H IA WIE | THT =l
T 1 gm cm~ 3 ¥ 3R Foge W O 5A
T ST Y I 0 E | e T 5
€ (=980 cm/s2) :

Options :
40503640541, 1-92 M
40503640542, 12 8™ g collegedunias
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40503640543, =10 &m

40503640544, +°1 &M

Question Number : 7 Question Id : 40503611162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The specific heat of water=
4200 J kg IK -1 and the latent heat of
ice=3.4x10° Jkg~!. 100 grams of ice at
0°C s placed in 200 g of water at 25°C. The
amount of ice that will melt as the
temperature of water reaches (°C is close
to (in grams) :

Options :

40503640545, 69-3

40503640546, 1+

40503640547, 646

40503640548, 038

Question Number : 7 Question Id : 40503611162 Question Type : MCQ Option Shuffling : Yes Display Question N~ Yes I
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 QCO| Iegedu nia:




AT = fafere S=4200 J kg~ ! K~
TF F foge =1 Td 1=3.4x105] kg !
g1 0°C H1 100 g % 1 25°C 3 200 g I
T =TEl WA 2 | W" YA 0°C W S € A Ak
=l TRl J= (I H) s s ?
Options :

40503640545, 69-3

40503640546, 17

40503640547, 646

40503640548, 038

Question Number : 8 Question Id : 40503611163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match the C,/C,, ratio for ideal gases with

different type of molecules :

Molecule Type Cp/Cy
(A) Monatomic iy 7/5
(B) Diatomic rigid molecules (I 9/7
(C) Diatomic non-rigid molecules (III) 4/3
(D) Triatomic rigid molecules IV)5/3
Options :
10503640549, (AFV), (B)-), (O-(I), (D)-(1ID)
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40503640550, V) (B)-D), (Q-(), (D)}-(1)

40503640551 A, B)-AV), (C)-(I), (D)(1)

40503640552, LI (BT, (CHD), (DHIV)

Question Number : 8 Question Id : 40503611163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

% [l "

fara- o sropadi | =+t 1wl 19 & fed T &t
AT | § ] F ¥ER SR T F C,/C,

HTIIE = A F1

30T o U o) T
{A] Ush JLHMS {I:] ?’;5
© 5w, 31T (M) 4/3
(D) fa e, 33 o1 (V) 5/3
Options :
140503640549, - IV), (B)-(0), (C)-(I1), (D)-(II)
40503640550, o-(IV). (B)-(D), (Q)-(1), (D)-(IIT)
40503640551, VD, (BY-(IV), (Q)-(I), (D)AT)

A)-(I0), (B)~(IIT), (C)-(1), (D)~(IV

40503640552, Oy (B)-(TD), (C)-(), (D)A1V) —
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Question Number : 9 Question Id : 40503611164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a transverse wave travelling along a
straight line, the distance between two
peaks (crests) is 5 m, while the distance
between one crest and one troughis 1.5 m.
The possible wavelengths (in m) of the
waves are :

Options :
40503640553.

40503640554
1
40503640555. 1 3

1
40503640556, 2

Question Number : 9 Question Id : 40503611164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T HiE T W= el UE SR a1 &
1 ¥l % == & g 5 m T TAfF THF TH
9T 3R UF T F A= H g L5m g | WE
T Fmel F Her { A 2
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Options :

40503640553, 1 2 3, oo

40503640554
1
40503640555, 1 3

40503640556.

| 5 .

Question Number : 10 Question Id : 40503611165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two charged thin infinite plane sheets of

uniform surface charge density o, ando_,

where |0, | > |o_|, intersect at right angle.

Which of the [ nllowing best represents the

electric field lines for this system :

Options :

P\

R /; #

NN
_}i\

40503640557.
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40503640558.

40503640559.

40503640560.

]
44
vy,
e

I-. \\LA
Rw

Question Number : 10 Question Id : 40503611165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B S - HTSIE i Udel =gl T UHEEE
Hig 97 o AT o Wmﬁﬂﬁﬂé
o, | > |o_| 3 =t U gHY F wreaq ¢ |
ferfa & 9 & & =9 @ == 5@ fmm =1

Options :

/7
A
40

40503640557.

Wi

ﬂ/}'

g‘/”“h o
= !
=

40503640558.

40503640559.
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L ; R i3 '
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k“l-\:f_';- -"'ﬁ/

40503640560.

Question Number : 11 Question Id : 40503611166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A two point d‘ua_rges 4q and —q are fixed

A d d
on the x-axis at x = 5 and x= —,

respectively. If a third point charge 'q’ is
taken from the origin to x=d along the
semicircle as shown in the figure, the

energy of the charge will :

?-" B
N
4q | —q
Options :
q 2
decrease by
© dmeqd
40503640561.
g 3q 2
increase by
" 4mweqgd

40503640562.
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”

4q°
Feqd

decrease b"i,
40503640563.

=
2q°

increase b}-‘

Iqreqd
40503640564 ‘0t

Question Number : 11 Question Id : 40503611166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

q fag sy 4q 3R —q x-319 W FEE:
| 1_  d : :

x= %ax=5mm§@;%| afe uF
o fag s=w ‘g’ ® qE fag H x=d ™
o 4 femEd s1ggd W o < 9 @ 39
S F el

4q \ —q
Options :
qz - WL "
F dwam
40503640561, =70

qu e
P HE H =T
40503640562. 0
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T P A e
40503640563, ~ 0

EL]E L

[ " S

40503640564, ~Te0d

Question Number : 12 Question Id : 40503611167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A battery of 3.0 V is connected to a resistor
dissipating (0.5 W of power. If the terminal
voltage of the battery is 2.5 V, the power
dissipated within the internal resistance
IS :

Options :

40503640565, 12 W

40503640566, 020 W

= AT
40503640567, 072 W

40503640568, 010 W

Question Number : 12 Question Id : 40503611167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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3.0 V&I U S0 U g J I3 5 2
T8 yice 0.5 W oIfsd 1 e 3 €1 afg
F=h F (terminals) & 3= Freedl
2.5 V & ol sl % Aain ufaiy | &F 2
aﬁm‘f‘aﬁaﬂw%:

Options :

40503640565. Do

40503640566, 020 W

40503640567, 072 W

40503640568, 010 W

Question Number : 13 Question Id : 40503611168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A wire A, bent in the shape of an arc of a
circle, carrying a current of 2 A and having
radius 2 cm and another wire B, also bent
in the shape of arc of a circle, carrying a
current of 3 A and having radius of 4 cm,
are placed as shown in the figure. The ratio
of the magnetic fields due to the wires A

and B at the common centre O is :

VD ™, "-I

wf-‘
\J 60°

Options :
40503640569, ©:5

40503640570, =2
40503640571, 4:6

40503640572, 614

Question Number : 13 Question Id : 40503611168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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U A A 91 AN UF 6 6 AN H 21 TH
FAHI T2 cm ® SR THARH 2 A F1 faea
ST 92 1@ & | UF 990 a7 B o U 99 F =M
F TR F1 € AR TH T9 F 54 cm & a1
R H 3 AT U EE @ g (e 3d) ) =
ferfd H 54 99 & 3 %= (common centre)
O™ dF A 3R 91 B ¥ =71 =] == a5
H HAI F1 I B

7AW
Options :
40503640569. ©:3

40503640570, =2

40503640571, 4:6

40503640572, 014

Question Number : 14 Question Id : 40503611169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A small bar magnet placed with its axis at
30° with an external field of 0.06 T
experiences a torque of 0.018 Nm. The
minimum work required to rotate it from
its stable to unstable equilibrium position
18 :

Options :
40503640573, 6-4%107%]

i 2
40503640574, =X 1077]

3
40503640575, 2-2X107° ]

3
40503640576, 117 X107 ]

Question Number : 14 Question Id : 40503611169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TF € T9EF F Afc 0.06 T F TH =
TEHE G5 H UH T 9@ 6 EE #Ag
S A Y 30° H T B, A TAE T
S =T 9 A0 0,018 Nm €1 UH H 4f2
THEF T T T A W ST 9
HAME] S O 59 Wk § R ST = e g
T4 1 AE B

Options :

: 2
40503640573, &-4x1077]
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r 2
40503640574, 12X 1077]

3
40503640575, 2-2%107°]

3
40503640576, 117 %1077 ]

Question Number : 15 Question Id : 40503611170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A small bar magnet is moved through a
coil at constant speed from one end to the
other. Which of the following series of
observations will be seen on the

galvannmeter G attached across the coil 7

o

I
WL
i 000 el i 0 .YYJE:l | «-magnet
C b

Three positions shown describe : (a) the
magnet’s entry (b) magnet is completely
inside and (c) magnet’s exit.

Options :

(c)

(a)

-

Fa T‘\
Il." -.II II.-
| —

"'x 4
R P - S

40503640577.  T— — —

-~

2 L8
EATdR
\ /oo

pd

i
'l

.
gcollegedumag
India’s largest Student Review Platform

~



(a) (b) (c)

N RN AL %
Ilu" -.'. I_.' '\I .'.. )
A~ ! (™)
II\- .f"ll ! -"'.I II.'\. -".I

&

40503640578, N S

.-I/ _/7; \“‘-, .f/f x\‘\.. ..-"/ \‘-.
| | —| l |— | / |
4 \\H__ ___,,-f" \‘\H__ ___/

40503640579. \

40503640580. = poi b=

|
1) i |I 1 !
I'-K\H. / "‘\‘m. .--'/-III \\\ _.--"'/}:.I

Question Number : 15 Question Id : 40503611170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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UF 912 < TEF F UF Feol & T TH
i 9 g Tt 9 Tom wifa 9 & S S )
U #H A fed T goites 990 36 Feel W
aﬂﬁﬁﬂmﬁcm%ﬂﬁéﬁ?

I./' "'-.IG
'\_I/’
T o a
<—n:l L ftﬁﬂfff‘”l:" «rCmagnet
b

c

femamedt it = feafei ® : (a) 79 T Freett
# O A, (b) S Trh T @ F e
F <t €, q1 (c) 9 dAF Hecdl F e
e W T

Options :

(a) (b) (c)
PR e W
I:IIr T : — -:/ T ::I—h- :f T \:|
40503640577, “—rr S N
@) () ©

40503640578, S s

A 2
i~ /|—-/ e

40503640579. \ il

# \l _Fl //
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40503640580, T S g e

Question Number : 16 Question Id : 40503611171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Choose the correct option relating
wavelengths of different parts of

electroma gI'lC'L‘I:.C wave EpE}CT_I'UITl 9

Options :

hrad i0 waves > h]’l'lji:]'[} waves e h‘uisib]e -
. L

40503640581, TS
huisih]e = ‘h‘x-ra}'s = hrad:iu waves

40503 6405 82 l;h..i'l'liitil'lilll waves

< A . < K s
A-Tdys mMCre waves radio waves

R
40503640583,  visible

o = i < .
"h"'u isible hnm:m Waves hrarjm Waves

|
40503640584, *TY®

Question Number : 16 Question Id : 40503611171 Question Type : MCQ Option Shuffling : Yes Display Question ™" %~ Y- ¥
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 Qcol Iegedu nia:




= § 9§ To=@ == T+ TR &
fafim vril & Teel F == W@ g F:)
EGEE
Options :

W WD WD W

40503640581, TEREAEERIEE fe

A__>h _ >h__ > )
40503640582, 0 xfEm T T N 2

W A I
40503640583, 3~ M Mesaraer < Ao

A <k .. <= ) s
40503640584, T TR A CEEGE xR

Question Number : 17 Question Id : 40503611172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A beam of plane polarised light of large
cross-sectional area and uniform intensity
of 3.3 Wm 2 falls normally on a polariser
(cross sectional area 3 x 10~ % m?) which
rotates about its axis with an angular
speed of 31.4 rad/s. The energy of light
passing through the polariser per
revolution, is close to :

Options :

h
40503640585, 1:0*1077]
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4
40503640586, 10X 107%]

4
40503640587, 10 <1077]

4
40503640588, 2-0x107% ]

Question Number : 17 Question Id : 40503611172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3.3 Wm~2 9/ U Hadal fdad T =l
U9 TF Y95 (polariser) T TFEEq TSl 2|
s 1 BAFA 3 x 10" 4 m2 ¥ gaw AH
e W HIE A 314 rad/s ¥ IH W@ 2
Y H qfd TRYH 59 YF J B S =T
T it Feall 1 T TR F B2 6
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Particle A of mass m A= % moving along

r

the x-axis with velocity v, collides

elastically with another particle B at rest

havf_ng mass mg = % If both particles

move along the x-axis after the collision,
the change A\ in de-Broglie wavlength of
particle A, in terms of its de-Broglie

wavelength (A,) before collision is:

Options :

Ay = = Ap
40503640589.

AN=2),
40503640590,

AN = =M
40503640591, 2

AN=4),
40503640592.
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2

KM my = ETEE‘]IA,};-GJEH%?HTEI

0, 7T =TeTdl g ZT9F mp = % F 0

B, S farmmeeen § 2, 9 Yoed: el ¢ |
qfE HEE & 912 Q1 1 x— 3783 o W Aiawie
T 0 FU A F S-dArd qiresd § qftEdd
A\ 1 9F THF 992 9 T8 &I S-Arel
e (A) ¥ fFm yr gefum §72
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40503640592.

Question Number : 19 Question Id : 40503611174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
gcollegedumag
India’s largest Student Review Platform

~



Take the breakdown voltage of the zener
diode used in the given circuit as 6V. For
the input voltage shown in figure below,

the time variation of the output voltage is:

(Graphs drawn are schematic and not to

scale)

\v‘] {j "E‘.I;l' i’\"n"ﬂ‘r le O
T TN, e
V=0 ‘ DN AN Vi £V

ri
.\,_J___/; ‘\M__J?
10V
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fa @ aftgyg § o S SEE & 9sH
diezdl (breakdown voltage) 6V GIEGEREE!
H fem@rdt T 99 (input) Fieed % foa e
(output) FiTed FHE & 9 fF9 TFR

e ?
(o=t Tiskfas ®)
Ry
‘ D R-:r 'h'l'r"\-'l':l- -i:- {
T P T
rd , , V ol 1.-
U — [] -[ - 7 \-.‘ 7 m o
‘ "'\._|_,.-; M .-')' r-lL O
—-10V
Options :
v F £
| .8 :: b4 e ol
40503640593.
% {
‘- \ 7 :
40503640594.
\‘lll { % Ty
‘ \_/ \_t
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Given figure shows few data points in a
photo electric effect experiment for a certain
metal. The minimum energy for ejection
of electron from its surface is : (Plancks
constant h=6.62 x 10 ~34 ] s)
X

ry

v Stop (V)

-S4, V)

:
i
'?;-*/(5.5, 0)
A/ ot

_3, (101 Hz)
Options :
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fed 4 faa § U 91 W e e geE &
T F F9 Alhe & fag fomd @ &1 39
41q 1 T8 9 gelaeE Sdtad & % fad
[IqH AEYIF Sl FHA E : (i (ERE
h=6.62 x 1034 ].s)

4
a r Y
j=H
E —~
o C
Sl -S6w
s
Byis
'¥(5.5,0)
A/ .

Options :
40503640597, 210 eV

40503640598, 1-93 eV

3
2
=1
e

=

40503640599.

2
40503640600, 229 €V
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Correct Marks : 4 Wrong Marks : 0

ABC is a plane lamina of the shape of an
equilateral triangle. D, E are mid points of
AB, AC and G is the centroid of the lamina.
Moment of inertia of the lamina about an
axis passing through G and perpendicular
to the plane ABC is I;. If part ADE is

removed, the moment of inertia of the

NI
remaining part about the same axis is -2

where N is an integer. Value of N is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 21 Question Id : 40503611176 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

.
gcollegedumag
India’s largest Student Review Platform

~



o § ABC U# 9Wag A1y9 & &R =i
T (lamina) ¥1 S99 D 3R E %H: AB 3R
AC & A -fag 91 G 50 WA #1 Fsk 2 |
F=F 9 T 9 91 ABC T & o
1% % T T F1 92 0 [, ¥ 1 Al wa
H ADE 971 %1 gel foa <™ o @< g 91 =0
‘NI

16

(N U qUii &) 2 o1 €1 N %1 99 @
|

SHT AN F AU Wewd AT

A
.-ﬁ\-\.

+G :
N
B C
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A circular disc of mass M and radius R is
rotating about its axis with angular speed

W, If another statinnar}’ disc havi_ng radius

% and same mass M is dropped cn—axiaﬂy

on to the rotating disc. Gradually both discs
attain constant angular speed w,. The
energy lost in the process is p% of the initial
energy. Value of p is
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A M a9 B R & U& T2i a9 318
T HIVE T 0, § A @ &1 76 e " uw

for femr faus g=9@ M 9 5= %%

HHET: {cnaxiaﬂy}ﬂﬁ?ﬁﬁlﬁpl%t T -

HiY T 2%k 311 H U WY H100E 7 o, J

IR SR 1 39 Wi ° g e 6 p%

F9i *1 wifad & Wt 21 p FT AMA 2
|
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A closed vessel contains 0.1 mole of a
monatomic ideal gas at 200 K. If 0.05 mole
of the same gas at 400 K is added to it, the
final equilibrium temperature (in K) of the

gas in the vessel will be close to
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TF 95 9o H 200 K 999H W 0.1 91 UF
AT SS9 T 9 g8 €| AfE 400 K AT
el SH 79 F 0,05 A SR R fed 9 A
e H 39 99§ 0 79 H arEe
(K ®) &m |
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In a compound microscope, the magnified
virtual image is formed at a distance of
25 cm from the eye-piece. The focal length
of its objective lens is 1 cm. If the
magnification is 100 and the tube length of
the microscope is 20 cm, then the focal

length of the eye-piece lens (in cm) is
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U Hgad ﬂﬁﬁ?ﬁ (compound microscope)
T AT AT At (magnified virtual
image]ﬁfﬂmﬁﬂcm{f{wm%l HF
Afeva®: o9 F BFT 20 1om T Al
HA@HA 100 B 3 Gewawt H Tl Hf e
EDcmﬁlﬁEﬁﬁﬁﬁﬁmﬁW@
(cm ) 2070 I
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In the line spectra of hydrogen atom,

difference between the largest and the

shortest wavelengths of the Lyman series

is 304 A. The corresponding difference for

the Paschan series in A is
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